Name
Statistical Reasoning - e
Chapter 2 Review: Describing Distributions of Data a

Types of Displays
Bar Graph, Pie Graph, Dotplot, Stemplot, Histogram, Boxplot

1. How would you describe the overall shape of this distribution?

SKewtd left
2. Where will the mean fall in respect to the median? (don't try to calculate it)
. mean < medion
| (is less than)
| 3. What numerical measures would best describe it?
| (mean/standard deviation OR median/IQR)
skewed - five # summany » median + QR
4. Which display best represents categorical data?
PR Chort or bow choud
! 5. What's the main difference between the data bar graphs and pie chart can display?
pPe Chav+ts (Annot cl \SP Iouj date
! Over 100/ pur bar rophs Ccan
6. Createa boxplot for the followi

ng data. Describe the shape. Cal
be sure to show your work.

culate and determine i there are any outliers —
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gers in the last 24 hours:
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Statistical Reasoning Name
Chapter 2 Review: Describing Distributions of Data Date Day
Vocabulary

Median, IQR, 5 numbers summary, Mean, Standard deviation, Outliers, Variability

7. A set of data has the following 5-number summary: Min=15 Q=78 Median=85 Q3=90 High=95
a. What's the interquartile range?

12

b. Isthere an outlier? How do you know?
SNee 1S< Lo, therc is at+ least | law outlier

Sinte A4S <103, we Know +hare are no h‘.gh outrliers

¢. What percentage of the data lies above 90?
25/

d. What percentage of the data lies below 85?

50y

8. Use the following boxplot

Spead of Drivers lnlnw ltmlhzon:’
- a. Which one shows more variability?

1 male

-
b. Roughly what percentage of males are going exactly the speed limit or
Q0 km/hy

we]

speeding?

| ] opproximately s /.

1—

=0

9. At alocal university, the mean of the total number of classes taken by students earning their Bachelor’s Degree

is 35. What does this mean in this situation? {ie 0\\/‘&(‘0&.%,6 ;ﬂ: o (: c \0LS$«€5 =3 3 6

a. [f all students graduating with a Bachelor’s degree took an extra 3 classes, what would happen to

the mean? What would happen to the standard deviation?
Mean - increasc by 3

S.D.-* no Chonge
b. Would anything happen to the median? What about the IQR?

Medion - Intréase b5 3
Q" ho c,homgp
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Statistical Reasoning Name

Chapter 2 Review: Describing Distributions of Data Date Day

Measures of center and spread

Median/IQR, Mean/Standard Deviation

10. Psychologists designed a study involving 47 experienced creative writers who were college students. Students
were divided into two groups using a chance process (like drawings name from a hat). One group were given
external reasons for writing (like public recognition/making money/pleasing their parents). The other group
were given a list of statements about internal reasons (expressing yourself/enjoying working with words). Both
groups were then instructed to write a poem about laughter. Each student’s poem was rated separately by 12
different poets using a creativity scale.
Here’s the data collected during this study:

Creativity . a) What's the median of the students who were given external
' reasons?
° |
b 0 ® o _
E = *e g b) What's the median of the students who were given internal
d? reasons?
® Z ]
= gool ogo"meomlm .. o ¢
I I 1
0 5 10 15 20 25 30

Avg. rating d) Which one has the most variability? How do you know?

IN+er Nal remsms -2 more
Sprmd out

e) Did either one have one or more outliers? How do you know?
LXAEN NAY FreasSamMS 1s move
likely 1o have owntlier(s) 1
lavge gop between

min & other cluster
of Scors
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Statistical Reasoning Name:
Unit 2 - Quick Review

Below is data from a sample of 28 people about what age they were when they
got their first job. Use this data to answer all the questions below.

12 17 15 16 21 20 16
18 18 19 23 25 24 22
18 19 20 21 16 16 17
30 23 22 20 18 18 17

1) Find the five number summary.

min=12 Q3= 2\.S
Q\= max= 30
med =1%.S

2) Determine whether there are any outliers.

R } 30 1S an owt\1ey
we= 2%.25

3) Create a box plot.

¥

— 3

[ Laga b b S
L 0 J) IIII'II

LI B

[ i
BRRARE
10 & 20 25 30

4) Find the mean, standard deviation, range, and IQR.

mean = 14.22 or 4.3 Yange = 18
S-d4.= 3.4l JaR= 4.5

5) If we were to add 5 years to each age, how would the mean, median,

standard deviation and IQR change?
mecn:. b‘$ c s.d.- no change

medion: T by S IQZ" ne changl
6) If we were to double each age, how would the mean, median, standard

deviation and IQR change?
moeon: double s.d- - dvuble
median: dowoke Qe dowble




The results from a pre-test for students for the year 2000 and the year 2010 are
ilustrated in the box plots below.

2000} |

2010 —— .

1 1

Identify each statement below as true or false.
« The median score for 2000 was higher than the median score for 2010.
True

« The scores from 2000 have less variety than the scores from 2010.
False

* 2000 had the lowest score.
e

» The scores from 2010 have a larger IQR.
True

Use the box plot from 2010 to answer the questions below.

What percent of students scored above 17¢
S50/
What percent of students scored between 11 and 202
S0 /.
What percent of students scored less than 112
2s7/.

If there were 300 students enrolled in the class is 2010, how many scored

above 202
(200)(. 26) = 15 stwndensk
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Statistical Reasoning
Chapter 2 Review - Part 2

Match the following histograms fo the comresponding box plot based on shape.

Name:

15 20 30 40 50 60 70 80 50100

10 20 30 40 50 60 70 80 90100 10 20 30 40 50 60 70 80 90100
B
10 20 30 40 50 60 70 80 90 100
10 20 30 40 50 60 70 80 90100 "5 20 30 40 50 60 70 80 90100

Describe the relationship between the mean and the median for each of the following

types of distributions.
the mean is_approximadely ¢qual 10 _the median.

the median.

For a symmetric distribution,

/~~_ For a skewed right distribution, the mean is _ Q€ QACH than
wss thon the median.

Wl For a skewed left distribution, the mean is

Wwhat are the two main measures of center that we use2 When do we use each?¢

meoun = when daya s symmedric/no outliers
median: when data Is skewed /has outlters

what are the two main measures of spread that we use? When do we use each?

stundoard deviatim: whun data s
symmeAric,/no outlierss
): when data (s

e (intorauawrtile vange ‘
IGR- (T skewed / has outluas




Given th
e following i )
g information, determine whether there are any outliers.

Min=2 _
Q1 =10 Med =14 Q3=20 Max = 31

(B= -5 - norhing wss Fham -§S
UB = 35 - nothing ovev 3s

No Ouwtls

Use the box plot below to answer the following questions.

Number of eggs laid
& i
4 et
0 2 4 6 8 10 12

what percent of chickens lay more than 2 eggs?

{00 /.
what percent of chickens la
1S 7/.

s lay at most 3 €ggs?

y between 2 and 8 eggs?

what percent of chicken
2S/.

what percent of chickens lay at least 8 eggs?

2SS/

kens lay between 3 and 8 eggs?

S0/.

what percent of chic
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If your datq doubles, how does the mean change? How does the standard deviation

change? How does the median change? How does the IQR change?

They all doavible

If your data allincreases by 7, how does the mean change? How does the standard
deviation change? How does the median change? How does the IQR change?

mean &+ median intreases by

Standord den. 4 IQR intreases oy

Identify the types of graphs below.

s slosres, SWG
Gy el R alea
g B plot
el
/ f ‘BQ " oxrfmmpwn:sh

SAT Math Scores
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